Or
Visit : https://hemanthrajhemu.github.io

to All Study Materials according to VTU,
— Computer Science En

— Information Science E
ctronics and Communica
& MORE...

Join Telegram to get Instant Updates: https://bit.ly/VTU TELEGRAM

Contact: MAIL: futurevisionbie@wgmail.com

INSTAGRAM: www.instagram.com/hemanthraj hemu/

INSTAGRAM: www.instagram.com/futurevisionbie/

WHATSAPP SHARE: https://bit.ly/FVBIESHARE



https://hemanthrajhemu.github.io/
https://bit.ly/VTU_TELEGRAM
mailto:futurevisionbie@gmail.com
http://www.instagram.com/hemanthraj_hemu/
http://www.instagram.com/futurevisionbie/
https://bit.ly/FVBIESHARE

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

0, will be treated as malpractice.

=5

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN '7

Time: 3 hrs.

ISMATDIP41

Fourth Semester B.E. Degree Examination, Dec.2017/Jan.2018

Additional Mathematics - 1l

Max. Marks: 80

by <applying elimentary row

Note: Answer any FIVE full questions, choosing one full question fromi each module.
Module-1
2 3 -1 -1
- , . 1 -1 -2 -4
Find the rank of the matrix A= ,
3 1 3 =2
6 3 0 =7

N
o

transformations.

Solve the following system of equations by Gauss-elimination method:

Xx—2y+3z=8 and 2x+y-z=3.

: : o DS L :
Find the inverse of the matrix [3 . W using Cayley-Hamilton theorem.
L

OR
1 3 -1 Z
. .10 11 - =3V 3Y S
Find the rank of the matrix 5 » & by reducing it to echelon form.
4 A I 5

Solve the following system @f equations by Gauss-elimination method:

2x=3y+4z=13 and 3x +4y%+5z2=40.

}- § -6 2

Find the eigen values of A =| -6 7 —4]|.
2 -4 3

Module-2

Solve (D* -2D? +5D2-8D+ 4)y=0.
Solve %{%’f—liy =cosh(2x—1)+3".
Solve by the method of variation of parameters y” +a’y =secax.

OR
Solve Q_ d")j +4d_y_2y —e*.
P dx’ dx- dx
Solve (D2 +5D+6)y=sinx.

Solve by the method of undetermined coefficients y"+2y'+y =x” + 2x

Module-3
Find the Laplace transform of cost.cos2t.cos3t.

Find the Laplace transform f(t) :K—Tt. O<t<m, f(t+T)=1(t).

| of 2

(06 Marks)
X+y+z=9,
(05 Marks)

(05 Marks)

(06 Marks)

L+y+z=9,
(05 Marks)

(05 Marks)

(05 Marks)
(05 Marks)

(06 Marks)

(05 Miarks)

(05 Marks)
(06 Marks)

(06 Marks)

(05 Marks)
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cost, O<t<m

Express f(t) = { } in terms of unit step function, and hence find L[f(t}].

sin t, t>mn
{05 Marks)
OR
Find the Laplace transform of (i) tcosat, (ii) ]% ; (06 Marks)
Find the I apiace transform of a periodic function a period 2a, given that
[, % 0<t<a
f{y=A, - f(t+2a)=f(1). (05 Marks)
2a—-t, a<t<2a ‘

{r!. 0<t<l

Express f(t)={ 1. 1<t<2} in terms of unit step function and hence find its Laplace

t? 2
transform. (05 Marks)
Module-4 "
. ; ; . (542)7 L s+ 5
Find the inverse Laplace transform of (i) ( = oy (I . (06 Marks)
s S —6s+13

[ s%44

Find inverse Laplace transform of log|—————1. (05 Marks)
| s(s+4Ms=4)

”

Solve by using Laplace transforms %?—-& k*yv=0, given that y(0) =2, y'(0) = 0. (05 Marks)

COR

. 4s
Find the inverse Laplace transform@f —st—-. (06 Marks)
(s+1) (s+2)
Find the inverse Laplace transform of cot"(ﬁTaJ . (05 Marks)

Using Laplace transformsssolve the differential equation y" +4y'+3y=e™" with y(0) = I,
y'(0)=1.

(05 Marks)

Module-5
If A and B are any two events of S, which are not mutually exclusive then
P(A wB) =P(A)+P(B)-P(ANB). (05 Marks)

The probability that 3 students A, B, C, solve a problem are Y2, Y5, & respectively. If the
problem s simiiltaneously assigned to all of them, what is the probability that the problem is
solved? (05 Marks)
In a class 70% are boys and 30% are girls. 5% of boys, 3% of girls are irregular to the
classes. What is the probability of a student selected at random is irregular to the classes and

wiat is the probability that the irregular student is a girl? (96 Marks)
OR
If'A and B are independent events then prove that A and B are also independent everits.
(05 Marks)
State and prove Baye’s theorem. (05 Marks)

A Shooter can hit a target in 3 out of 4 shots and another shooter can hit the target in 2 out or

3 shoots. Find the probability that the target is being hit:

(i) when both of them try (ii) by only one shooter. (06 Marks)
* Kk K k kK
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